SR-350-AAA-0

PITT Qube

2025/01/16 14:33:05

Copyright(c) KOSHIN Ltd. All Rights Reserved.



PITT Qube

SR-350-AAA-0

B
1 074019101  [SR-350 ¢y SD60 3211 |1 700
000 H
2 074019201  [PH¥v4t°y SR-350 05122- 2 200
50610
3 074019301  [aty7°t°y SR-350 05525- 2 200
50600
4 074019401  [pwk° ¥4 2" SR-350 04322105 |2 200
012
5 074000101 [SR-350 Ry % w b PP 1 3,000
6 074005201 [SR-350 &#5~JLL 1 200
7 074005101 |SR-350 &F#FS5~ILR 1 200
8 074006701  |SR-350 7 # 4y3A" I 1 200
9 074801101  |SR-350 # vy k3 1 4,700
10 074001001  |SR-350EJ&H v42 Y114 PP 1 400
11 074000901  [SR-350E R vIAA{k PP 1 1,100
12 074006801 [SR-350FEREES NI 1 200
13 074006901 [SR-350FBLHS NI 1 200
14  |074001803  [SR-350 N y7-4-7" bk 1 Din 1 1,600
15 944300049 |(BEZHmF HE 5.5-5 2 200
16 074001903 [SR-3501\wF ) —H—T L2 2 1 1,600
17 074800502 |SR-350&#R - BEE Y I 1 7,400
18 718505017 |[+=FE/RF4 v EY F % ISR-350 3x8—27% |6 200
SuUS
19 074002902 [SR-350XERER A v F 3120-N514- |1 7,700
P7T1-WO2F-
12A
20 074002302 [SR-350R A4 v FH—T I 1 % 1 1,400
21 074002402 |SR-350ZR A wFH—T I 2 =] 1 1,400
22 074021601 [SR-350F% E 1459 12 2125N 1 2,300

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 14:33:05




PITT Qube SR-350-AAA-0
No. mE SREZ G - ME BRI EfM iBE

23 074001101  [SR-350 Yryhn - EPDM 1 600

24 703505053 |t+FEFTE X5/ xY SR-350 M3x12SU |2 200
S

25 827305003 |;"A+ v hSR-350 M3 1%8&LE |2 200
SuUs

26 074002102 |SR-350KBY Y —TI TSR i 1 1,000

27 074002202 [SR-350%KES—7IL~1F R = 1 1,000

28 074800302 [SR-350FE—4%—4—T I ¥ 3 1 3,700

29 074010102 |5.5 2504 JimF FVDDF 5.5- |1 200
250B(BZ)

30 718505035 [+ZERfFo¥vEVITRY 4x12—-2 |4 200
fESUS

31 941900080 [#EHR/Nv R AB-80-1000 |3 200

32 074000501 [SR-350L /N—iRJL% POM 1 200

33 074007101  [SR-350 Y3vha{v¥ ASQ10410 |1 1,200

34 074800101 |SR-350FTESY—TIN I = 1 1,600

35 074001401 |SR-350F T4 —T I Fa1—7 1 500

36 848605056 |[FEiTEY (¢ 3x20) SR-350 1 200

37 074001201 [SR-35047 —7JLiEHE Y SUS304WPB |1 200

38 074800601 |SR-350F Tl /N—4 3 1 3,600

39 074800405 [SR-350F/REARY VRV I 1 33,000

40 703304116 |+=F7fFF+~R/NWERTY SR-350 M6x20 SUS |2 200

41 846204006 |FES 84%205006: 2 200
Va|

42 074017802  [SR-350 7" L-%¥71¥-A (SD6016010 |1 2,400
00G1)

43 074017901  [SR-350 7" b-%43 13331701 |1 7,200
001M

44 074018001 |NREEMFFNNRIM6*12 (F24201060 |3 200
12) M6*12=
{@ioni-p

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 14:33:05




PITT Qube

SR-350-AAA-0

No. mE SREZ G - ME BRI EfM S

45 074018101 |CUs)" MEUM14 SR-350 0740 0001 |1 200
400

46 |074018201 |\ -(¥41 5597) (LK122- 1 1,700
4321-1)

47  |074000401 |SR-350Fstui - POM 1 300

48 |074000601 [SR-350L/N\—H/ILF EHEE SPCC 1 300

49  |0740007017 [SR-350L/8—/\x% SUS304WPB |1 400

50 074011501 |SR-350 }57A3y° M5x16 A252 07050 |2 200
016

51 074011601 |SR-350 WK WEEFRTYF M5 A300 0405 |2 200
0002

52 |074023401 |SR-350 "KW (SD60 5007 |1 15,700
000 K)

53 |074011901 [SR-350M/F WEEF W M8x45 H1540108 |2 200
045

54 |074012001 |SR-3500/F WEETsF M8 A351 0108 |2 200
000

55  |074016801 |SR-350 AWK W5 J97° 61191- 2 600
41422

56 |074011801 |SR-350 @@/ \v R (0(35110320 3 200
70

57  |074009401 |SR-350 7 L-%5A" I 1 200

58  |074009501 |SR-350F cAMuF5A b 1 200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 14:33:05




PITT Qube SR-350-AAA-0

Copyright(c) KOSHIN Ltd. All Rights Reserved. 5 2025/01/16 14:33:05



PITT Qube

SR-350-AAA-0

No. mE SREZ G - ME BRI EfM S

59  |074011401 |SR-350 1 4N YN (SD6017050 1,500
0O0H)

60 |074001601 [|40A7 b-F t1-2 SR-350 1 200

61 0208559 BREMA24VEA/N Y 5 1) —(PA-379) 1 52,100|PA-379(4971770-200593)

62 |074006601 |SR-350 I y7)-¥+7- 1 700

63 |074018401 [799%- SR-350 03500130 |2 200
820

64 |074018501 [M8 7k SR-350 A3010108 |4 200
002

65 074000301 |SR-35071 RS PP 2 1,500

66  |074003001 [SR-350h5—A 2 300

67 |074018601 [799%- SR-350 03500151 |2 200
430

68  |074018701 [JVAL At° vy SR-350 05620106 |2 300
020

69 |074018801 [fRVFIE®HAFY7 £ YSR-350 05230106 |2 200
000

70 074000201 |SR-350 N 547 A7° 04k PP 2 3,900

71 |074018901 |pbAt" A"y SR-350 05620108 |2 200
035 K

72 |074019001 [{RVF1IE®FY7° £ YSR-350 05230108 |2 300
000 M

73 |074001301 |SR-350 T LhA-5- 2 13,800

74 |074018301  |SR-350 704 7h (SD6018070 [1 5,900
00G)

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 14:33:05




SR-350-AAA-0

PITT Qube

(RR—ID 110~114 2813 )

2025/01/16 14:33:05

Copyright(c) KOSHIN Ltd. All Rights Reserved.



PITT Qube SR-350-AAA-0
No. mE i BRE - ME B Eff

75  |074003202 |[SR-350 T/M#7 — AR (SD6010020 5,200
00J)

76 074012301 |SR-350> % 7 K 1 SCM415H / 4,600
SD60 1011
000 G

77 |074012401 |#4JL>—JL SR-350 0840 1020 400
328

78 |074012501 |X7 1> %6004 SR-350 0750 0060 700
040

79 |074012601 |O' > % SR-350 0830 0500 200
120

80 |074012701 |SR-350> v 7 K 2 SCM415H / 2,700
SD60 1021
000 G

81 |074012801 |[SR-350%7 18 SCM415H / 4,300
SD60 1022
000 G

82 |074012901 |SR-350F 73 9 SCM415H / 4,400
SD60 1023
000 G

83 |074013001 |CY 7 SR-350 0740 0001 200
500

84 |074013101 |X7 1> %6000 SR-350 0750 0060 700
000N

85 |074013201 |SR-350>+ 7 K 3 SCM415H / 3,000
SD60 1031
000 G

86 |074013301 |SR-350% 7724-35 SCM415H / 6,400
SD60 1032
000 H

87 |074013401 |"7 1> %6002 SR-350 0750 0060 700
020

88 [074013501 |~"7 1> %6001 SR-350 0750 0060 600
010

89 |074013601 |44 LS —JL SR-350 08400115 400
257

90 074013701 |SR-350> v 7 K4 SD60 1041 8,400
000 G

91 |074013801 |[SR-3507 74 FIL> v 7~ SD60 1051 11,800
000 H

92 |074013901 |SR-350F 772 SCM415H / 8,600
SD60 1052
000 G

93 |074014001 |¥— SR-350 0572 0006 400
016

94 |074014101 |[SR-350> 7% — SD60 1091 4,800
000 H

95 074014601 |# 4 JL>—JL SR-350 0840 1012 300
227

96 |074014701 |R7J Y E> SR-350 0550 0006 200
025

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 14:33:05



PITT Qube SR-350-AAA-0

No. i LLE Mg - HE BRI Eff T
97 074014201 /N%  SR-350 14291418 |1 200
000
98 074014301 R—JL SR-350 0800 0000 |2 200
600
99 074014401 SR-3507L — k 1429 1403 |2 300
000 01
100 (074014501 CTHIJ b SR-350 M6x16 / 1 200
A800 0106
016
101 [074014801 F4 V7> SR-350 14951005 |1 300
000
102 (074014901 73T 27403214 |1 200
200
103 074015001 o—=I7 v v — SR-350 0833 1000 |1 200
800
104 (074015101 M87F v k SR-350 F301 0108 (4 200
001
105 |074015201 M8x 353 JL kSR-350 FO500108 |3 200
035
106 |074015301 M8x507JL b SR-350 FO50 0108 |1 200
050
107 074003101 SR-350 T/ M7 —ZX L (SD60 1001 |1 6,300
000 G)
108 074803002 [SR-350 3vyavy7h 47743 (SD60 1150 |1 81,400|1107114&¢
000 K)
Copyright(c) KOSHIN Ltd. All Rights 9 2025/01/16 14:33:05

Reserved.




PITT Qube SR-350-AAA-0

Copyright(c) KOSHIN Ltd. All Rights Reserved. 10 2025/01/16 14:33:05



PITT Qube

SR-350-AAA-0

No. mE SREZ G - ME BRI EfM S
109 |074015401  |SR-350/\— SD60 1401 |1 2,900
000 G
110 |074015501 |SR-350/%4 7 SD60 1402 |1 1,400
000 G
111 |074015601 |SR-3507 547 v k SD60 1403 |1 800
000 G
112 |074015701 |SR-3507 v & v — 0350 0140 |1 200
618
113 |074015801 |M6E ¥ Z7F v k SR-350 SD60140500(1 200
0G
114 |074024201 |SR-350C TRJL R8*16 (A80001080 |1 200
16) 8x16 341
£
115 |074016001  |SR-350 ¥75-7" J»7° (3B1290) (069100122 [1 400
50)
116 |074011701 |SR-350 797 t° Y 05210116 |1 200
000
117 074002502 |SR-350E—% — 1 O[NO.1237 = G
118 074023102 |SR-350 ¥75-1 1K (SD60 5003 [1 6,000
000 K)
719 |074016101 |M8x25R/L k SR-350 SD60000800 |4 200
0G
120 |074007001  |SR-35097M 1K 5A 1 200
121 |941900380 |4 v 210w 2 SR-350 AB-380 1 300
122 074019501 |€—4 —Bh7KH/\— SR-350 1 500
123 |074802402 [SR-350 €—% —7 3 1 20,900|NO.117,121,1220 7 X

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

11

2025/01/16 14:33:05




PITT Qube SR-350-AAA-0

Copyright(c) KOSHIN Ltd. All Rights Reserved. 12 2025/01/16 14:33:05



PITT Qube

SR-350-AAA-0

No. mE SREZ G - ME BRI EfM S

124 074023301 |SR-350 7° L-}B (SD60 5006 1,300
000 K)

125 074016401 |~ 7979° 6004UU SR-350 0750 0560 |1 900
044

126 |074015101 |M87F v k SR-350 F301 0108 |2 200
001

127 074016501 |M8x20F W 38tk SR-350 H154 0108 |2 200
020

128 |0740153017 |M8x50R/L k SR-350 FO500108 |2 200
050

129 |074024201 |SR-350C TRJL F8*16 (A80001080 |2 200
16) 8x16 341
£

130 |0740235017 |SR-350 A" -AN AT L (SD60 5008 |1 7,700
000 K)

131 074023601 |SR-350 A -AN 17°R (SD60 5009 |1 7,700
000 K)

132 |074017101  [79%%- SR-350 03500162 |2 200
040

133 |074017201 |EIYEY SR-350 05200140 |2 200
040

134 |074023701 |SR-350 7 b-F 7b-h (SD60 5011 |1 19,000
000 K)

135 |074023801 [SR-350 91 RFL— K A BE ALY 2 2,600

136 |074023901 |SR-350 A9 -15° (SD60 5012 |1 2,800
000 K)

137 |074017601 |M8x16 & it (H1)5401080 10 200
16

138 074017702 |M8x50 3 &RJL ~ 4 300

139 |074023201 |SR-350 My7v-k (SD60 5005 |1 23,100
000 K)

140 |074800702 |SR-350%E%R7 I TANVER 1 13,800
2124N

141 |074001601 |40A7 b-F t1-3 SR-350 1 200

142 |074011701 |SR-350 A797° ¥ 05210116 |1 200
000

143 |074011801 |SR-350 5w/ N> R (0(;5110320 3 200
70

144 |0740119017 [SR-3500VF MEIER W M8x45 H1540108 |2 200
045

145 074012001  |SR-3500/F WEETIF M8 A3510108 |2 200
000

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 14:33:05




PITT Qube SR-350-AAA-0

Mg - HE BRI Eff

146 |074005004  |SR-350 EiksREAE 1 700

Copyright(c) KOSHIN Ltd. All Rights 14 2025/01/16 14:33:05
Reserved.



